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1 HBE(10a%=Y)

T) IR E L EEE R A

e BT HE

NO| 1 H fF 2 RE | Fe | BeE | Ml [YEER | US| Smes

(FH) | (%) (H) [ (F) (M) [ (M)
1 [Favy {8 Bk 20,000kg| 1,404 23.9 294 302| 1,340 1,455
2 |¥avy F{RBL 10,000kg| 1,158 44.6 260 335 911] 1,271
3 [Favl 1 8,000kg 720 25.2 357 349| 1,638 739
4 |k R -EHEAEY 20,000kg| 1,974 30.9 320 314] 1,590 1,629
4 & B 15,000kg| 1,610 34.2 314 324 1371 1174
6 |k Mkl 12,000kg| 1,322 30.4 363 315] 2,655 723
7 [2=Fr=k fRp-REEY 11,000kg| 1,270] 198 583 712 707) 1,797
8 |[FX R 7,000kg| 1,100 35.3 446 491] 1,163 946
9 | R Zith 7,000kg| 1,311 48.2 389 370] 1,666 787
10|4F3 1R R -+ #4 5000kg| 2,879 428 1345 1.114] 2503] 1,502
|A4F3 1R X -5 5% 5500kg| 2,070 28.0] 1,345 1284 1,791 1642
12[/NERAA 1R Bk 4,500kg 592 33.7 391 359 1,977 300
13| XyF—= Eith 2,000kg 207 35.1 294 311] 1,288 220
14|=H2V Eith 3,000kg 384 43.6 294 343| 1,083 355
15 |koEQIY hoRL-B8-Fili|  1,500kg 66 18.6 236 244 1,275 67
16 |[F9EOOY o - B LLFE 1,500kg 73 20.7 235 221] 2,096 45
171295 i 2,200kg 875 50.4 790 989( 1,000 875
18 |THA A R )L - E5E - FiBHh 600kg 216 37.3 966 1,387 692 313
19 |TAIA k)L - E5E - LR 800kg 221 28.7 960 884| 2,068 246
20 | vy EMEY -5t 7,000kg 72 11.4 90 90| 1,547 47
21 [y AL -FiBih 4,800kg 42 12.2 71 73] 1,229 34
22 (NP4 EMEY -5t 8,000kg 82 16.3 63 58| 2,820 44
23|\ HA MELEY - FiB i 7,000kg 100 23.1 62 59| 1,880 76
24 [FRoL Yy NIR-FEE 5,000kg 876 34.8 504 369| 6,483 482
25 |FRoL2 Y it - L) 1,200kg 185 32.1 481 670 674 275
26 [FRoL >y AT - P ILFE 4,500kg 473 17.3 609 584 1,960 817
27 |7FkoL Yy &3t - LI 1,800kg 226 27.5 456 610 672 489
28 [bE#HHRIL YD |Eih - EY 1,100kg 171 34.7 446 807 451 378
29 [LAR Eih- 54t 5,000kg 56 11.1 100 99 1,687 114
30(Joyay— ELY 1,200kg 85 25.5 280 351 749 114
31 [Fayal)— MELEY 1,200kg 65 23.2 235 272 891 92
32|=35 INTDR 4,000kg 752 29.4 640 748 952 790
33|~ ¥ mELY 4,000kg 278 24.6 283 324 946 294
34 |¥E sfEY 3,500kg 426 35.1 347 298| 2,499 277
35 | L RF &L 3,500kg 206 27.2 216 337 490 419
36 [2YRE Z& 6,000kg 216 30.4 118 97| 3,688 137
N\ Fr P4 INYREE 15,000kg 672 209 214 311 475| 1,415
38 |EANAY Mkl 2,200kg 890 46.3 874 951 1,259 707




Bt | 1R Y
NO £ H £ B IRE e | ek | B | VEEE | YRS | @
(FRD| (%) | () | (A | (F) | (EFE)
39 |7 RINSGHR FREEHAEY 2,000kg 571 227 1,256 1572 712] 1,364
40 |4 BREY - LR 5,000kg 139] 245 113 95| 4,518 63
4 [TRY LY 2,400kg 111 14.9 311 302 1,848 138
42 [ <€ =& 1,500kg 235 255 614 691] 1,007 274
2 fEE(10a¥1=Y)
Bt | 1R Y
NO £ B ® = IE | R | WeE | Bl |YEER | YFE | S8
(FAD| (%) [ (F) | (B | (H) [ (BRE)
1|/\5 B 152,5004| 1,991 12.6 104 95 4,174] 4,299
2 |MLvaxxay |BE 450004 1,692 229 164 195 826 2,388
3 |MLa¥X¥ay  |[ERHS 28.750A4| 2033] 456 155 135 2092| 1,448
4 |DUEDYL Dk 12,0004 661 14.7 376 459 597| 1,108
5 |&ER¥Y B 33,0004 529| 253 63 65| 1,356 390
6 |[RIL—%4 e E% 46,0004 927 29.2 69 711 1,391 693
A=k Eith 30,1004 542|  40.0 45 50 1,175 461
8 |/I\FEE AP 1,0003F 54 320 170 209 870 63
9 | S L FHEE-RA 28,0008 792] 435 65 59 1,879 422
10|7o94 IDE(2 4,4008k 648]  42.1 350 356] 1,443 469
|25+ - gy 10,5008 735 13.2 530 566 990| 1,323
12 [OFA A&Edil 7,1758%| 1,690 15.2] 1,550] 1,933 572] 4611
13| h—%—33> |#A¥ 11,450%% 919 14.6 550 614 834 1,633
14| 72094 237 8,0008k| 1,265 19.1 830 846 1,364 1,127
15 |TEIEHAEY B & 50,000848] 1,291 30.8 84 68| 3,734 633
3 BE(10az§7=y)
Bt | 1R Y
NO £ H £ B IRE e | ek | B | VEEE | YRS | e
(FAD| (%) [ (A | (B | (H) [ (BRE)
1 {y>a Eith 2,500kg 782 54.9 570 435 2,632 385
2 |TEY M&LT 1,300kg| 1,372 69.0] 1,530 937/ 3,420 463
3 |FY S 2,500kg 787 54.3 580 392 3725 291
4 |EE =i 2,200kg 735 60.7 550 449 2,146 342
5 [h¥x Eith 1,400kg 480 62.3 550 390] 2817 215
6 |9 A = ih 1,200kg 187 45.8 340 335 1,550 156
7 |REE S 1,800kg 517 50.8 566 435 2,752 241
8 |¥o4IL—y |[EHh 2,200kg 484 430 512 491 1,655 312
9 [k M&T 500kg 593| 39.6] 3.000{ 2664] 2093 314
10 | 7T IL—A~1)— Eih 500kg 356 59.4] 1,200] 1208 1484 320




4 {E¥H(10a1=y)

= Bt | 1BRIY
NO £ H e A InE e | PSR | Ml | VAEER | YRS | 5 e
(FA)| (%) | (F) | (F) [ (F) [ (BRE)
1 KHd AIRE_EE 500kg 20 212 184 175 1,951 15
2 IhME AR —E% 450kg 40| 440 204 123| 15,556 4
3 | K= RIRE_E1E 180kg 40|  458| 481 330| 4,721 10
5 ¥HHAEYW(10aZifzy)
= By | 1BRIY
NO £ H e A InE e | PSR | Bl | VAEER | YRS | 5 e
(FA) | (%) | (F) | (F) [ (F) [ (EfE)
1 |av=x% 2 {E-20ha 2,820kg 11 3.2 125 141 306 89
2 [av=—v4y B {E-5ha 2,910kg 11 3.2 125 158 159 86
3 [av=v4 #4-3ha 3,000kg 8 2.1 125 156 116 92
4 |35/ %4 & R 120kg 183]  353| 4,317] 5,162 965 190
6 BE (1EEHEY)
= By | 1BRIY
NO £ H e A InE e | PSR | Bl | VAEER | YRS | 5 e
(FA) | (%) | (F) | (F) [ (F) [ (EfE)
1 |BRE REFIV 10,500kg 131 9.6 116 124 928 142
2 |Bs 2Y)—Rb—)L 10,400kg 49 3.3 116 121 742 93
3 [FN4-FEE ZE£F07E- 25088 265kg 26 40| 2450 2471| 1,239 27
4 |R¥EIEE 2 3#7E - 30088 243kg 18 48| 1480 1488] 1358 13
5 |ERIEFI4 FHEY 0.7888 131 24.8| 660,000| 617,945| 1,997 66
6 [BEK REEE—E 1,614kg 45 53|  525|  530[ 1,287 54
7 BEOFEHREY)
= By | 1BRIY
NO £ H e A InE e | PSR | Bl | VAEER | YRS | 5 e
(FA) | (%) | (F) | (F) [ (F) [ (EfE)
E-3 AR - F400] 52kg 65| 337[ 3697) 5339 647] 114
8 ENC(HE:10FEZY, FA: FHEF1000E%7-Y)
= By | 1BRIY
NO £ H e A InE e | PSR | Bl | VAEER | YRS | 5 e
(FA) | (%) | (F) | (F) [ (F) [ (EfE)
1 |ERVA3T B 10,000kg| 1,711 20.4 839 847| 1,429 1,829
2 |BAR A2 kS 1,000kg 152]  18.1 839 1,646 238 640




